Paper-Maker Harish Kumar

Directions (1-5): & 3§ FEHFN FT CARAIEH HeqTT X 3 AT R 71w oot &
W gifT-

oF AfFd Th PTHR A & IRT IR 587 YFR 98 § & AT fFd A & A
HlAl T S § 3R b AT 3N 3oHG § I AT F Tcdh TS A ¥ & HALF A
3 § 3R e & a3 37T § 390 F @l 3ARA & o [Afees ATt
$H YR IS § & oder i d&ar 1 3R NS Afqer H F&ar 6 § 9U1 377 ¥ TS
og Taffest TUT 37141 s911d, AT, e, SRR, PRI AR WS § e §
Afehel 3T gl foh AT A H gl

N 37ex &1 3R 3+7T & 3R TH7 &1 arell Al W Ed & N 3R [saia 4
T IfFd & FET U Ifad dor &, J WE § Feed §. «Avsr & geafad
afFd, e & woafta safda & S o @ar 8. K, s9na @ geafid cafad &
fAcas =Rl 8. L 3R ool & @afa cafda & 7ty 3= @ 30+ aafFa w&a §.
M =telt ATSTel WX T 8. Tgell AlSl W W@l dlell egiehd, K & &0 & gl §A1eT
W IS . ATvsT ¥ gFafag afdd & & I |y arem Afed K & S 910 T
W JoT §. IWRT § Foaftd eafed, SR & Feaftd afed & S & @ar ¢ AR
3% gl ¥ Y T W 33T §. O &6 & 3R 3778 § 3N M & Fehead gsie
el §. K feoeh & aeafta =gl §. L a[saa & Heafed =8l .

Q1. frfaf@d & & il M & T & g I W g7
(a) J

(b) N

(c) K

(d) L

(e) O

L1Difficulty2

QTags Puzzle

Q2. PETAf@d # & #i el ¥ gFafla &2
(a) K
(b) M



(c) gadr FiGT W et arer Afwd

(d) K & G0 & g ¥ 9T JoT eafed
(€) 51H & g =gl
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Q3. farfaf@d & & Fl9 3WRT § Fefaa g7
(a) J

(b) M

(c) L

(d) N

(e) K
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QTags Puzzle

Q4. K 3T J & 910 & g T R &> afdd & Aeq raet cafdd T §2
(a) ar

(b) T

(c) I

(d) <=t

(e) ®IS =Tet
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Q5. farAfaf@a # @ FHa-a1 Fdia acg g2
(a) O-aTusr

(b) M-T[=atia

(c) L-sqY

(d) K- arsr

(e) IS AT =Lt &
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QTags Puzzle



Directions (6-8): Al AT 71T UAF Wl #, TF wee 3R 3°F 91 QY Hy=T | 3R
Il few arw &, 3muer Aok dar § F #9a & AT 1 srer wee &1 3w & & favw
i § 91 A8 Al FUAl F eaeEs 99 K I difSre-

(a) I HUT | T 3MET 3hel YA FT 3K &of & TIT GATCT §, STafeh HUA || &7
STeT 37hel URe & 3R &) & v gafeq =&Y §.

(b) T FUT Il FT 3TET Hhel T H 30 ol & [olT GITTA g, Saih P | &7
3TeT 37hel U T 3R &of & foIv gaTed g g.

(c) Tfe a1 A FUF | &7 31T AT HUT || FT 3ET YT FH 3 ol & v gITTd .
(d) afg =t aa | 3R 1| F7 3rer Ao o U &1 39X & & forw gaiea 71ET .
(e) I XAt YA | 3R 1l &7 31T fAATHT g2 & 3 ¢ & Tl HaT+ g.

Q6. g iFd D, U, K, L, M 3R N te {f@s dfda & o83 § 3R 398 &7 3R
37A §. TEIai@d # @ @i K & 910 & gAY T\ T 937 87

. L 3R M & 7eg o oafed 96 8. K 3R L & #eg & gfed dar g. D, L &
II. D, K& S0 & d*Y T WX §8&T &. U, D & Ahedsd st &, K 9fFd &
3T BR W 7 9T &,
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Q7. S=dt & Tk gfdd # P 3R G & ALY fhded s= §7
. P, 40 s<=l & dfdd # g0 R & 10 § T W &7 &.
Il. G 9fed & 9IU R ¥ 12 d T W &.
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Q8. F, A & frg gR TFafad &7

l. A, D &I g#mE §. B, F & ¢ ¢.
Il. H, B &T s§cI-3-a1l g.
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Directions (9-10): #fiF T 71T yA®F wesT &, v WA 3R 39F a1 T Faa7 |, 1l
3R 1 Re v &, 3y oty aaT § &% F9e & T 9197 Ster wee &7 39 & ¥
foe qafea § a1 adl. 9t Fu=t F eaegEs 0§ 3R 3w §fSe-

(a) I FYUT | 3R Il F 3T THATT 9T T 3 &of & ToIT gATeT g, Sefh HUA
[l ST 3T Y2 FI 3T Sl & ToIT AT+ 6l &.

(b) IfE w2t | 3R 1l & 3T THATT YT FT 3 ol & v gIieqd §, Jafh
Il ST 3T YT &I 3R Sl & [T HaTS Al &.
(c) TfE Y=t 11 3R 1l & 3T THATT YA T 3 ol & Tl gATeq §, stafer FUT
| T 3T 9T &l 3R Sof o Tl HTGTh =IgT g.
(d) afg @l s, |, 1 3R 11l 7 32T Thary 9 &1 301 ¢of & TolU 3aede® g.

(e) afg @elr v, |, 1l 3R 1l 7 3T ThaAryT YR T 3T &of & folT uATed 8T g,

Q9. J, K, L, M, N, O 3iR P & & &l Ga&t #RY g7

l. J IRRT §€8 ol Afdd &. N, M 3R K & &1l g

Il. K, M 3R O & goor g. O I8 HNY =T8T g,

N P ET 08 AT AFd 8. L, PA AT §. T A L 3R 7 & N 98 8 §.
L 1Difficulty2
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Q10. 376 IfFd Th geTpR AT & TRI IR IS 8. 3987 & FS g T 3N T
35 ¥ $O g & dGL B IR 374 §, of Aol 7 @ $l L & aW § g
T W ST §.



LN, TR IR 3AEGE, TSI Sdhal @ gl T WS §. P, R & a0 @
Y Tl ) daT .

LS MFU A TMAARISTE. SIRRF Mg T IFTITIE S &
foeheaa ISl Teh-g@X 1 faudi feem & 3R 377@ 8. S 3R L weah-gEl &
faodre feem &1 3T 3@ 2.

. L, P &% g0 & I T W IR M & S 910 T W ST . M & S gio
TYT R JoT eIfFd, S & a0 & g8 T W 3T g, S Sl g AT 3R 3774 . N,
P &l fAshedd Ugiell €, P St &g & 3R 3774 ¢.

L 1Difficulty2

QTags DATA sufficiency Reasoning

Directions (11-14): AFAfAT@T Ucds U T & 15 AASRT W 3meaRa &
() A @ B 3aTq A, B &I AT 8.
(i) A + B 37T A, B & 1 &.
(i) A $ B 3ATq A, B T S §.
(iv) A # B 319 A, B &T 97 8.
(v) A % B 37T A, B & far g
(vi) A & B 374Td A, B & 9fa &.

Q11. 38 &g T+WHYSU@O$L%M &, fs=Ifaf@d & & @it ‘T 1 JdsaAet 2
(@) Y

(b) L

(c) M

(d) U

(e) TUTRa & fovar ST Fhar
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Q12. T o ‘H@R&T+Y#I$O%L&X' TcT §, o Fe=ifaf@a & & Sia-ar acg
£?

(@) O, Y & ar &

(b) R, H & g &



(c) X, O &r ECL &
(d) L, | T 37l &
(e) HIS T el ¢
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Q13. 3¢ I ‘R@THYSUAN@MSC’ & g, dl eifai@d # & Hid-a1 38y
g2

(@) U, C &1 Tar &

(b) Y, N &I §ieX-81-all &

(c) R, U &7 [¥et-ga-ol ¢

(d) T, C & SeI-31-al &

(e) Tl T &
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Q4. A=fAf@T & O Fa9-a1 e ‘H, V & Se3-30-ar & gaafar &2
(@) V«X@M$J#H%C&B

(b) B&V*X%C@M$J#H

(c) C@OMS$JIH#BHV*X%H

(d) X%C@M$J#H#BRYV

(e) SIH & HIS Gl
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Q15. T AT Uh JEY ¥ FEcl o, "TFEN 9 FT Shelldl FeI-Saf-ol A AS H
gehellcll dge1 ol FehollaT alAG §|" AfGem #T 9&1, J2W &I Iaay ¥ fohd T Heferd
g2

(a) S&a1

(b) AT

(c) @rH

(d) dfssrex




(e) FAEeT-go-aIr
L1Difficulty 2
QTags Blood Relation
Solutions

Solutions(1-5):

Sol. Floor | Person | Place
" 6 O Delhi
5 K Noida
L K 4 M Gurgaon
3 J Rewari
N 2 N Jaipur
l 0 1 L Agra
S1.Ans(a)
S2.Ans(d)
S3.Ans(c)
S4.Ans(e)
S5.Ans(b)

Solutions(6-8):

S6.Ans(e)
Sol. After combining statement | and I,

1 1 1 1 1
| 11 1
D UMKNL

S7.Ans(e)
Sol. Using both statements, there are 18 children between P and G.

S8.Ans(d)



Sol. From both the statements we cannot find out the relation between A and
F.

Solutions(9-10):

S9.Ans(b)
Sol. Combining statement | and IIl,
0>L>P>N>]>M/K>M/K

And Statement Il is not sufficient to answer the question

S10.Ans(c)
Sol. From statement Il and I,
M
L N
R P

S
And statement | is not sufficient to answer the question.

Solutions(11-14):

S11.Ans(d)
Sol.
Y(+) =U(")
W(+)—0(+) L(+)
T(-) M

S12.Ans(c)



I(+) —0(+)

H()  Y(+)  L(+)=X()

Sol. R#)=T(-)

S13.Ans(d)

Sol.
R(-)=Y(+)

U(+)=N()

T(+) M(+) —C

S14.Ans(b)

Sol.
X(+)

B(+)=V(-) — C(-)=—=H(+)

M(+)—IJ(-)
S15. Ans(e)



